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B PEDAGOGY OF LANGUAGE DEVELOPMENT

Learning and acquisition
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Principles of Language Teaching
Role of listening and speaking; function of language and how children use it as a tool

Critical perspective on the role of grammar in learning a language for communicating ideas verbally
and in written form;

Challenges of teaching language in a diverse classroom; language difficulties, errors and disorders
Language Skills
Evaluating language comprehension and proficiency: speaking, listening, reading and writing

Teaching-learning materials : Textbook, multi-media materials, multilingual resource of the
classroom

Remedial Teaching
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8. 3rcifire Td <iffid U (Asexual and Sexual Reproduction)

9. fheIREaTa—{HeTRmERen 9@ uga (Adolescence—Reaching the Age of Adolescence)
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10. 91 91 S99 YHR (Forces and Its Types)
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11. UPT P WG, TEIRTEI, A 5 AT SHD S@HTA

(Reflection of Light, Multiple Reflection and Human Eye & Its Care)
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13. faga am1 iR fIg@ «iv9 & e 991@ (Chemical Effects of Electric Current
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14. $B Urgfid Tc¢ (Natural Phenomena)
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15. d91g 3R &l BT UGyl (Pollution of Air and Water)
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16. ¥R HUsd (AR 3R 71&1) [Solar System (Stars and Constellations)]
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17. foememe (fasm)

a1 &)yl 8iiR WRTA (Nature and Structure of Science)
UTphad fIsiH/aiea 3R Se¥a (Natural Science / Aims and Objectives)
T B WHET SR SHEH WRIET BYAT (Understanding and Appreciating Science)
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gfewmvi/gaiga gfticdivn (Approaches / Integrated Approach)
Uer1/yarT /3=yt (fIst o ugfa) [Observation/Experiment/Discovery (Method of Science)]

JAfIFT/FaraR/Fa=Y (Innovation)

Jreaaat AT AR AEE (Text Material/Aids)

AT HA— SIS [AAIURSUHTEa (Evaluation—Cognitive/Psychomotor/Affective)
A (Problems)
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swm  qegshd (TAfRTehdl) Td dEMaRol &1 94

2 (Effect of Heredity and Environment)

JTARTRHT AT ATTER0T H1 37

(Meaning of Heredity and Environment)

AR ¥ S d=dl 7 wrRae Uil d= wedl & ol g™
2 gl WO (transmission) &1 HERH & IR0 A5 @
AARTEA & A D WARN B 5 O B g AfRT I
AT & S Ui v9 ARG HIaHT BT WIS BN S @
34 A f3pe e 21

g TO=1 &1 1Y) (sperm) HT & JATSV] (ovum) ¥ TAera &, 1
Y THERT ER 2 | IR & T @] & 23 BEEr
HUSIY] &b 23 DHERIET ¥ fierd 2 &R 39 e 4 DHRIF Bl
el AT 46 AN 2351 2SI 2 | BIHHRT BT HADPR S &
A 1 21 2 AN Ui PEE™ | Sl UR Wik & forTd
AT 07 FfeR B0 & | AT i1 a7 Ari-foa < sy
0T YIST B 3, Y gl Pl g8 Wil b HISHH W I Uil Bl
ToI TS 3T AR B TUIT BT <R & | 5 TRE T & ST I
RGO CURG ARG I 1 K G TG R I G | S G IS G |
| Tl A S & AW | Y9 B B

IIERT (Environment) ¥ TG S F41 Aol 9 (ST ®1 BISHY)
BIe 2 i1 =Afdrd 1 Seiford SR yeifas Hed 21 gER Il |, T8
Fel ol el & 6 T &1 arrmaen ¥ I =9 999 e B
AT W BIE 3 Sl TERY W Yy d S g Bl 2
ATITS TR A 31k Aol A1 Seld 21 bl o, U] AR &
TGS arRERu § [ e 21, 7 savad e | Bl
A FEUA AT "eAT AR & FAIeD a7 999 Ffafera
A STRA 2 Wi 92 =t &bl YIfas Bl & [9=1fd= 3 aIra”vl
| A HATIAT T TR0 ¥ 2 2 |

eI B TdeR AT T2 aRmaR SF1 g & e
BIEl 2 | SJA Tl §RT FABR & TaIIA &l [HR0T 211 2 de1
ARIERY] 99 A @ GEREAN $ A= FASR & TP
frieea faem # Gpfaa ®wan 21 o, | & U de]
AT 2N TG ST BT 371 &1 gRuIm 2T & |
TS & STTHR—"IAIHH S 99 BRI Bl AT Bl & S
AfFT & Sl YR B3 & g 9 E Suierd B 2 W &
HH TTE U THIE & AT 7RI 5 ¥ A7 A1E qd & Sufier
BRIl

“Heredity covers all the factors that were present in the individual
when he began life, not at birth but at the time of conception about nine
months before birth” —Woodworth
TR AR B ATHAR—"IAHH o AfURT 7 AR o & e
AR ARSI & [ A SRR

“Heredity is the transmission of physical and mental characteristics

from parents to offsprings.” —James Draver
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AR, s Td dies & SIIHR—"2fdRT & IR0l & 3T
S " ST Bl A ATl & f578 98 W A Y db UBvl
BDRAS

“A person’s environment consists of the sum total of the stimulation
which he receives from his conception until his death.”

— Boring, Langfield and Wield
. forrad & srgaR—"maaRw 4 999 aege & o {6 v avg
P ART AR Y T Y & 9201 S U B9 § YAIaT Hl 20
“Environment is anything immediately surrounding an object and exerting,

adirect influence onit.” —P. Gisburt

qeTsHH BT Fraw
(Laws of Heredity)

q9IpY (Heredity) HAdEPI 2 Shad=fie] (Biologists) P feru

I AP A W fava 2 | awied T Frmil aen fagr=n

T SERE &, T2 faw A oTerM & T TR R Bl &1

DN & U 1 waliten yafed 32—

L doen & s @ Fam (Law of Continuity of Germ
Plasm)—39 fTM & SITAR, I91d DI 94 <1 aTel Arady
Pl o 81 21| 39 & ufidies 989 (Weismann)
BT B &—"AoTb BT BRI baddd FAGD BT (Germ Cells)
P FT BT &, S SN 9ed B a19H TA-fORm |
fireren 2, =9 98 a1l G @I SR & ol & 39
YepIR, drotd™ Nd-a3-Na detch el 217
A8 & *Srorp™ o FR=Ra’ & R & Wier T8 @
ST & | S STl T Bl U 1. TH. ST (B. N. Tha) 7 forsan
3—"g9 TSI & SIUR 406, dicie & SR 2l
Bad doip & 3ed B, 9 T Al g @ <9 E
ot T TG | gud 9 B 39 YBR SR {5
W 2, 91 U a9 ¥ et g W g e Wi 2l
SIS o1 g1 =1 <l GeIeh™ <l Tequl Yichan 1 e
B B S A IieH® & B I
I A<l 9eepH Dl WU YfhAT Pl ARAT T DY UM & DRI
AT T |

2. WEEETE HEm (Law of Resemblance)—3g3 frem & AR,
ﬁw—mm%,ﬁﬁmwm%@ﬂ{etendsof
beget like) | §9 M & 372l & WEIR HRT g0 HRAEA
{Sorensomn) EREEC %—”ﬁi@“ﬂ:{ - & 9= ﬁ@m‘[
IR W00 & a2 |IER 3R F=5-gleg Ao &
o A -gfeg BN ¢ | 391 UBR, TAREG I &1 gfte |
o IO & W 2R 2

e oM i Ul ¢ e URT: S S 8 fE Pl




HIAHO ) weE 09, 99 gl A S waE gleas
B 2139 W & TR A1e-foe 6l a2 el & qel
¥ S 91|

R ¥ FE\ (Law of Variation)—39 7 & AR,
I I AU & Rega T9F 7 297 319 8 9
21 2 1391 YR, U & AIKI-UKTT & o1l UG & HHM
2 gU Al gfg, I AR wWHE § vh-gae 9 i 2 2
FI-B I JI] TRIRG SR A faftsrm o sih
3 | SHPI DRI &Il g8 AR (Sorenson) = ol 2—"g%
fafisrar & TR - @ Saed-BHl B fagear 21
FAED PN A 3D RS en &, A1 fafss yer 4 w9
BB V-5 W [T o=l bl Ffur el 21

e &1 Frm afiorfes & Tl | ST (Darwin) den
THE (Lemark) 9 3F® TR w2 IOl &1 98 9 Udbe
a2 1 U1 A B3 a1l srgud e fagms @ |l
ST Gifeal 3 21 W | AR (Mutation) TeIT W fad
T (Natural Selection) G G2HAIT fI2SRIIST & S BRI
3

YA H (Law of Regression)—39 =M & IATAR,
dIetab 4 9 AII-URT & faudies qurar @ik 2 g e @
3] [T BRI BU WA (Sorenson) - f&T@n E— 954
gRraTeTell HR-fOeT & = § &9 ki 2F @ wgiy s
dgel Frstalfe & A & a=di 4 &n Frerelfe E9 @
Yaf & g

weptal &1 e 12 2 1o a2 fafrse quil & soimr g ol &1
HfE faRo v T SR & WIRN 37 1 & R 9 [G6-
Pl P DN & | 90 M & 1 uR, dield Si9 FIR-fusir
& faf2rse quil &1 @RT B G Ul Pl Y2l B 8 | T2
PRI 2 o5 e AfHT & Y5 ATERUI: b I He T2
BRI &, S/ AR, Y SR AT T & g3 T4
g 9 ®ife & o1 | 59 a1 =1 SR &—(1) AT &
o 4 9 & 39 R P e wheeel e E
(2) WO W S gdSl A 4 B @1 sl st
Ifherel 2 8 |

srfefa 'g“fl & WpHU P EH (Inheritance of Acquired
Traits)—%% 2 & SRR, A0 gRT U Siia=-able 1
JAFRT R T 916t 01 ST < @7 WISl -T2l 2T & | 399
TR BT SRATHR BT T FABRIATE oW (Lemarck) 1 forem
S— il g1 A19 Siae § S o 1 1T fapa oTrT &,
8 SId gRI S {3 WM arel =afthal @l Wbl fpa
IRTT & I ST SaTeev] < 3¢ ST 1 &2l & 3 fow uyg
BT T Yl 9ge-58 OIS D WM o, UR G5B a9y uftfeerfor
B PRI T8 T 2l T8 3R DI H IFDH T e &
T 7Tl 1€ 7 HehisT 29 T | AP & 3% b &l gfte
§I—CI'EC\‘WI (M(:Douga]l)Gﬁ"l’\r Hideld (Pavlov)f[ @W@%ﬂ’ﬂ—'{
(Harrison) =1 TaT U= Q&0 &Xd 6 2 |

&1l & 1 4 fasbradre A «Afsid quil & e &l fgr
e T2 for wen 2 1 39 9w # gead (Woodworth) -
feTan 2—aengea &1 Ufb & iU gl S 9 qus 2

U U2 d Y SHd S el 2 b aafSte auil ol wepiira
e 1 b | T ST BT AT ST W o, <1 a6 S
f=RIPT gRT 9 S &1 A0 o ®1 Abiiad B bl & ¢
N PR B THE JHIT B gfte T g © | & A0 oD ol
R, i1 g URART 1 YIS 8, b 21 2l & | dieid
B T2 I URAR & TATE0 § B A B B0

e = (LaWOfMendel)fSleﬁﬁﬁﬁTfﬁﬁo_ﬂTﬁf@[Eﬂ
quie B3 & fere e ik Hea (JohaImGregorMendel)el
Hewqul ] faa | o Brd-01 aifesr 9 92 fafir= awe
@ W&kl Bl Wehkd B AL B AR a1 Bl
YRIaTE fa | S a9 fasge YRl & IR ®1 1866 9
YepIf¥ fpar, dfp &S BRI A S YAl &1 3R 1900 b
RN &1 &I 98 a1 TR | S A1 1 ] Taeivs,
AT 912 ST A e w9 ¥ W B Sh) 9k 1R
Td o9 W Hea B9 34 91 B & UEd o1 59 9
giep<lia] 1 Al & el ol de ogvE siR 92 sigd i
&1 HATERHA e (Cardinal Principle or Law ofHeredity)?hQ[
eIl

el =1 U g A Hex & el & 3uiT, SRS AR 9ol
Bl dlel Qiell, vl <ol 12l Soel dlel urdl, 88 R el
el darel Wi, faer qen ReTer 6 SO & 9
rell, <1 Pl 12 B Well darel Wisl ®1 TaiRe fhar aen
I 07 9 M drel el &l s Gifedl da sreRE (B
I SO A YA S S S-S Uil Bl Wb
o /T e, U @ TR @ 9T 91T | SR SR S Uh
TR H ST T S e < dTel e & Gl Bl FHRA
&R A e | aRumr 3 <en @ 6 gl 99 & 3v
HHd 1S & o1d T &, 9 3 990 S WS 01 BE F
el Jolell <A1 b1 TE1 o7 | g9 d1e wid 5 i) & a9 4§
YIS 1T 1 G- SR TR S 9 59 AR M B 75% el
AT T D 2 R0 25% el Sofel W B | Y Tea] W N
G & el & e ST R SR ST T3 1 B AU A
<" U | B2 Tl 96 W B & 9 TS F <=1 F oW
A TFT YPR & Hex & 19 319 qol &9 4 371 1| s &
YART 9 e gl b fir-fir ergmit ar il arell we 2
W &1 |1 awgell @1 HeBia & ffad fen s a9 S
P 915 M el TG @F g GE) H 9 HIR0 B
e Y <@q Bl e T &2 Gifedt & 95 3 ST
TV 3 el WY Pl G- U<l B bl & |

Hea A A9 gRuTM &l 2ATE Yael i 9 A9ed i &
WY A Bl S| S @ IS BT Vb Sild ol Yol SR gIRI Sild
9 9Ee BRI &, O U ST Pl Ueled el Wi & 1 i o
ydel WiF P &9l 183 ORI A gRT Aabforsd b e e
I T Bl 78R ORI a g1 AT 661 | e & 9181 3§ G
A BT Sl Yo Sild B S 1 g i) 7 7ew & dig) & w9
el ST B BT BRI A oIl b T I 61 S by
i ERN 21 U, $H@l Hederd U2 A8 b S w9 @l
SIH—31 T Yo Wi &—3T9del i & HAT Y <l © |
dfes, TdE U2 2 b audel wid & v99 e o 9 9

11 TP T4 freme= | 33



< Offell 2, W] o1 &l Qe A S < 2 |

ool & 39 SAFAH & Rgr 4 <1 e |feafam &

() JererpRUT bl RIgTT (Principle of Segregation),

(W) aaA Belg &l NgT (Principle of Independent Assort-
ment)

YeIerehRUT o1 TIgT<1 #18 oeiiell 2 féb il U1 ugedl Hepr e &

T & & AT 5T <t & (S99 i) d AT T8l 21 911,

qieh 917 & WY Ge) & 79 gl ¥ famE 21 39 O

| DI Tl 211 b <9 Z¢ 07 317 il & <12 FAedHT a1a

HAfeTa T8 o < 2, dfed v 0 9 598 0 A

1 e gH TG 9 Il GG 99 S 9 B9 A S

AT 1T I 2

< Belg &l gl U deflell & fdb el veb sgafie qui

1 TawRUT Y Sgafes 0 & fawRer § yuifas 72 e,

eIl wae= BIell 2 1SR Hsel 1 a7+ YR A i fd wew &

el & el BT 0 HR D Well B HBIR, Sad Bl eTg Sl

DU ECRECI RS

e & T Hed 7 g2l W N WIR fom | 59 e el

Pl G2 BT II-1e] ¥l | $T9 Wil g8 S+ U, d el @ |

T S 31 aUIRIEHR Bl el Bl b Wil T@l | §7R 9=

B a9, FIe AR e 1 @ o

HY YA & AR W) W 1 98 g ufuifad e e

JUIET gIon A1 aEGY AU WIS AT AW B9 BN

AU 2N 2 | 98 Rigra “Hsear (Mendelism)” & -TH 9

uRrg B

TR & fqavu 9 wee B o ypfa smgafiesar & ame ¥

P-a- 0 B 1< T2 Yol T T T b T8 Toeeii]

T 2 | SR & ATAfeer & aae ¥ FreeTerieR g

PI Had A aoIm T E—

(i) ST T ATTATERB A ael S AU 1 2 < TE
2N, dfeds dietd &l sid il B Jen |9rT qRI-fs
q, TNy WM SEATE, AN §, Y HE
YREG-IRETE], WAFFRAF #ife 3 firersn 21 gwfere
T T3rg] quUiET: qe AwTe-foen or & R 18w AR
#U qdsll & Uil Bl U 1 GY Bq b Affie feu
@S|

(ii) PR T 9 § T2 & | BEEEE | o 9 Srg
2RI 3138 ol & agR gy fHgrsil & i & ek
2SI 2 1 1318 e1u Arer & s & wrequn e U &1 |
1SR AT fern Wiy 3 fOe &1 e ATen 3R 3 AR 2
3R AT &1 &= T 920 T Higell & 1 Rrg] v aiR
AR A1 121 g Hidedl 2 dabel & |

(i) FRT 1 TawTe f3rg] 1 23 BEINEET ARN 9 G2 23
DT O 9 fiern ¥ 139 TRe ¥ Bo 46 BENE IO
23 SIS PN ol frg] 9 2R 8 1 57 22991 A
44 I dields A7 dIfeTabl 3 bR U faeedR | 94
2RI E 152 ARSI Ha1 oIl 2 | 2391 wirel IF R
TR & A1 STeTHT § A S70] XX B/ &, Ry q1eldb A
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T aferie] Xy 211 21 Y PIMIHITRT X hHIRITRT &l &
I BTl & AT THH X BHIEEE B T 4 A ol R
T 197a ¥ forg & I @ fraio i g/ 2 2 (@@ ife
o 9 Xy 2R E) 7 fob e gy (SR efen XX P
&1 B/ 8) 1

TEMIHH B Uikl

(Process of Heredity)

A INR & S PIEE & Had § B & ATHR B TG
BRN & T DERIFT o |=1 & SIRN 21 S 9 Ued
PIfEPBI & Badb A 46 A 23 2 20 2 193, S DIRPI &
o W AT 23 BERRT 8 URT SR 2 | B, W9 gos & %o 9
et dTel gIhIu] &l DIl B & 9 & b d1el vy
1 IR ¥ el & fes waasy THER 2R 2, T I
@ 23 BIETRIF <1201 TSIV & 23 HHRIRH SH1 FAed= T wid 4
DM 1 Sfest AT #HRAl 46 AT 23 SISl o471 <l & 1§70
DT & 22 SISl BT AHR EA 3R g9 SF1 3§ & T SR
2 @R 52 AESIF Bel T 2 | PRI &l 2391 oirel Jad
DRI 2T S 3 A 25 €, 0 gou A 4T | e
DHNIR] &1 e D BNl &—UD o BARI AT THRT A1
BT 2] I 2 | O § X T2 Y B &1 2kl & Iaih
A1 # 4% X BEREE 2R 8| W9 W & 99 g RE X
DM 2 2, 0 & HUSIY & X BRI 4 filerd g, o &
TR W TS T BRI &, Uy =19 Tl & a9 greery] oo v
DM 2 8, 1 & X SR 9 firersn 2 < W saven i
ASPT A= SR B |

DM 8] v fa9 [E1 2Rl & f50 iF Pel Wik & 15781
S & GRT ARN-TI1 & 39T =01 391 Y&l & 01 370 g 21
g A 9N 21 U & P § Y9l S 2 9anl § SR
UG S 1 TR U W U1 & FraRe & 2/ 211950 §
R T I T S T S SN A g w9 9 ofas
#UJ 260 2 {592 € U9 €A1 Deoxyribonucleic acid eI #IY.UF T
T Ribonucleic acid @21 < & | DNA # 21 01 Sl Heiel: Arar-
TorTT 1 firel 211 2, T T&ell & <7201 S 9 o1 &bl (=07 2
2 fop <ia 159 garr @ SerTuT faeh s &80 | RNA SR DNA &
T DT ST ST 2 | 9 TRe W § B S gr1 & e
S f31es Ul 1 WLl B2 |

DA & WG & aF1 Ga= 4 T & 07 diel S 8 & 3%
AT o1 & ¥ i1 21K & 1 SFA1 Si=1 HU--3q DRI
H Ueb W SR TR BN 2 | U BT Bl SR B
BRI i 2 B G R R s B B S R I e i D O
S Y AT SR 2 Wb 21 " d WA B 2, < il
Frfeea wa & wrt-aa T faam 2 1 oR 1 feen s 36 2 /E0
i BPha™ & & &, 91 T2 sTaw sHare T | U g &
A AT =T WAHY T BB AT 21 W S bl Tele’] del
SIS 2 1 SR 99d 2 T ST T Ueb Sl EebellM a1 21 R -1
S |1 &9 | AR &3 &1 21 | TR0 31aeen 3 5id 3§ $F-w
Tup fadsRire 2, g (R S 9 W) el 3 b g | A
PI-HT Wi Jae & TIoIl I YT ? Yad i d9 ST BT H21




IR & Sl sy SiF & 1R 2 R SO AU e 0 it
ferTe &, Uy el SN @ TUI BT Ui AT T bR S|
Fo72) B 1 e Y 5 i | s v R ) g R £ e M M el o A S
i Uepdrel fiersr & 4l SO o e A fewn @k 21 wi"
LR S0 & SR BT U WilF edhel &l & R gIR1 oA
AT &1 ¥ AR &3 &1 &, 7 9led M o ¥ & S
DN, il g8 Sl sbel did uib A e yeer 2 2|
TR 3EA S ¥ g 07 91et 4 941 S8 9K & o1 Uk
D SFT S AT B |19 R 0 | a1 o
dIeld 4 qUBY 21 & <l 99 dieid &l SISy didd 62l
TR 2, U9 9id d f=1-f=1 2R 2 < 99 SgIRier 9Ieleh
PEl T &

B AR BRI BH-H Fg faii § a1 4 s xan
Y DM ORI SR |51 & Bel faT afs 90 & TRR 9 oA
TSI, <1 A8 T B A U1 A SIRAN b 9w A1 o= 4
PHTERT D1 AHET SIS 70 XY A1 XX & 21 59 M 9@
A X I Y SIS 91 BF TS 1 2 | PRI & oiig 9 99 o &8
TRE & AFTIAN 1S WIRT &, U] S99 T RIS &—
XXY Bl MR, XYY &l SRR <21 XO & SR
XXY & MR 4 aafdd d@H 4 gey Sl Rl 8, Uy
I 98 AR R 2 | 39 aelgT%ecd A& 9 21 Rl
&1 XO BT MR 7 AfeeT 2R 5¢ 1 S04 Afean &1 07 T8
YT ST 2 <Rl 92 disl 2 2 190 2 wetaqvy o sl Wi 2 |
XYY T SR B R Yoy ORIl 21 ST &

qlcich IR MY BT T
(Influence of Heredity on Child)

BB AP & MR W dRIHH & Y9 BT a0 5 TBR

¥

1.  qa-TIReA] R WHH—AHSIE® (Thorndike) &1 1 & & aelds
T ¥ ARHAT BT G BRI SHBI G2AT]HH & |

2. IIRIR® T R WA —brel a3 (Karl Pearson) &l #d &
Tep afer AT- O &1 TS 9 A1 A 2R 2 < S 9o
&7 THIE BH AT AP ERT E

3. ol &t Sradn W v —ReTen (Klinberg) &1 15 2 & gfg
BT AT DI DRUTYSIIRT & | TE BRI & {6 SFIDHT B T
g, TR et A Aea &)

4. WEHIYF AFEAT R WHE-ded (Cattell) BT A9 &
AT AR &1 20 BV d2ADH o | a8 39 fspy uy
AP & 885 ATIDI & IRAR &1 e & @
RUHRGHY Ugdl | SE9 Sl (6 g9 giEr 4 9 s
FIERN-a7 &, 1/2 SUEEH-97 & 3R Bael 1/4 P-a91 & o |

5. ARA R WA—STSd (Dugdale) HT A & {6 ARFEM AT-firan
B I aRHE BRl & | SH U8 A6 99 18775 W WM
(Jukes) @ ISl Bl HER Hb g BT 11720 4 =D |
ST oI 1Tl ST Ueh A W™ 211 SR SRyl ool
SHSG AT AR ol | 39 SF1 & deiell & a9d § 99
(Nurm) 7 ferar & — o e § e 1,000 =IfREE H 9 300

diearawRal A WY Y, 310 7 2,300 a4 <RgET 7 @i fav,
440 0T B BRO A T, 130 (FFH 7 Tem & 9 )
QUK AR 2 SR Bad 20 1 BIS AGHA B3] HraATl’
6. HEFAI U WHIA—TTee (Galton) &1 7141 & fb 1fth & wam
1 HIRUI FHHT dATIHH 2 | A2 GUHA &1 &1 ko & fo
ftpal & TR 3R AR Fan # faftrern e <
1=t @ &, 9T, 99T, R, gig, AFTEE T anfe
T JIIDH YR S T8 & | Meed o @ e—4em
RN, TS, SE v, arieesri, dRw
3R figenfel @ Siaa-afi= @1 srerad & ¥ N e/ B
1% 1 Ui g2 &3 ¥ JerR-uTe o 2fth g Er
7. i IR YHEA—TISTS (Goddard) &1 74 & &b T-gfg Trn-fie
B I Fa-gle AR da-gig T & w9 <da-gis
q1el 210 2 1S9 92 915 plefldbid (Kallikak) 1D v e
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“Heredity gives the capacities to be developed but opportunity for the
development of these capacities must come from environment. Heredity
givesus working capital, environment gives usthe opportunity to invest
it.” —Landis and Landis
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“Every phenomenon oflife is the product of both. Each is as necessary
to the result as the other. Neither can ever be eliminated and neither can
everbe isolated.” —MacIver and Page
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“All the qualities oflife are in the heredity, allthe evocation of qualities
depend on the environment.”
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"Nothing is more certain than that heredity and environment are
co-acting influences and both are essentials to achievement."
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"The relation of heredity and environment is not like addition but
more like multiplication. The individual doesnot equal heredity +

environment but does equal heredity * environment."
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Chapter

A Comprehension Exercise is mainly consisted of a passage,
upon which questions are set. The main purpose of this exercise

is to test the ability of a student.

Therefore student is need to read the passage carefully and

Comprehension

1 [Questions based on Inference, Grammar and Verbal Ability]

Poem is a form of literary art which uses aesthetic and rhythmic
qualities of language such as phonoaesthetic sound symbolism

etc. ‘Poem’ comes from the Greek word poiema which means

a “thing made.”

choose the correct answer out of the given alternatives.

Important Questions

Passage

Direction (Q. No. 1 to 8)

Read the passage given below and answer the
questions that follow by selecting the correct/
most appropriate options :

The richness of her childhood experience came
from living a life, which embraced tradition on
one hand and exposure to the world of change,
of questioning and questing on the other. Her
father’s proressive ideas, his involvement
in bringing about change in the restricted
Brahminical society, his encouragement of
Kamladevi to follow her own inclinations and
yet give her an opportunity to study in a school
and participate in all the social functions with
which he was involved, as a Senior Revenue
Official, gave her confidence. The example
of her grandmother, who lived the life of a
scholar and fearless woman, who travelled
alone without any fear of any social disapproval
or adverse consequences, was a fitting example
to Kamladevi, who later travelled all over the
world, often risking her life.

Girjabai, her mother was a dominant influence
throughout her childhood and youth who set an
example by overcoming all difficulties without
a murmur. She discarded meaningless social
customs and observances. She championed
the cause of women. Her conviction was that
a woman must educate herself, so that she
could be independent and her insistence that
Kamladevi should not only study, but also
participate in cultural activities and sports,
enriched her daughter’s life.

Kamaladevi went with her mother to Seva
Sadan and saw her exhorting women even older
than her to become literate. She heard hre read
to them from the newspapers, magazines and
extracts from books by social reformers and
nationalists, followed by discussions and saw
their attitudes changing. Girjabai’s love for

music was shared by Kamladevi and she was
encouraged to learn North Indian and Carnatic
music. This love of music was a great source of
peace for Kamaladevi in her later years.
1. ‘which embraced tradition’
The word ‘embraced’ here means :
(A) pleased (B) followed

(C) disused (D) performed
2. ‘anexample by overcoming all difficulties’
The word ‘overcoming’ means :
(A) conquering  (B) over bearing
(C) reaching (D) not coming
3. ‘living a life, which embraced tradition,
Which part of speech is the underlined
word ?
(A) Pronoun (B) Determiner
(C) Adjective (D) Adverb
4. Which two contradictory kinds of
experience did Kamaladevi have in her
childhood ?
(A) Childlike and Adult
(B) Social and Individual
(C) Questioning and Questing
(D) Tradition and Change
5. Her father did not believe in :
(A) allowing children to join the adults
in their activities
(B) female education
(C) removing brahminical restrict-
ions
(D) giving freedom to children
6. Which of the following statements is NOT
correct of her grandmother ?
(A) She was not afraid of social
criticism.
She travelled unescorted.
She believed that women should lead

B
©
a secure life
(D) She loved to read books.
7. Which of the following statements is
correct about her mother ?
(A) She preferred studies to sports.

(B) She did not believe in adult literacy.

(C) She struggled through life smilingly.

(D) She observed faithfully all the social

customs.
8. Study the following statements :

(A) Kamaladevi's mother read to her
from newspapers and magazines.
(B) Music was a sourec of great comfort
to her.

Both (A) and (B) are right.

Both (A) and (B) are wrong.
(C) (A) isright and (B) is wrong.
(D) (A) is wrong and (B) is right.

Direction (Q. No. 9 to 15)

Read the passage given below and answer the

(A)
®)

questions that follow by selecting the correct/
most appropriate options :

The goal of independence was achieved in India
through a prolonged struggle, during which, the
far-sightednness of the leaders of the freedom
movement resulted in giving a final shape to our
soical and economic goals to be achieved after
freedom. This vision imagined to build a self-
reliant nation through maximum utillization
of the resources in men and materials, and the
establishment of a noble and liberal society. It
has been an article of faith amongst the policy
planners in India the while economic strength
determined the scope and quality of political
freedom for millions that quality of freedom
depends on increased work and production in
factories. It leads to just and equal distriubtion
of wealth among the people so that the poor
can also enjoy the benefit of freedom. This, it is
recognized, is possible only through increased
employment opportunities in the society.

In human terms, democracy means availability
of equal opportunities to all the people
irrespective of caste, creed, sex and religion
to develop their personalities. It means access
to education in Arts, Science and Humanities
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and also awareness of our age old values and
traditions, it needs to be emphasized that the
Indian policy has been based on a concern for
the individual not as a worker working for the
economic development of the society but also
as an end in itself.
In the Indian context, the concept of national
development goes far beyond economic growth;
it is concerned with the creation of a nation
united in one purpose, of people speaking
different languages, professing. different
religions and rooted in a variety of cultures.
9. '"While economic strength determined the

scope'

The word 'determined' means :

(A) preferred (B) rejected

(C) established (D) decried

10. 'our social and economic goal' Part of

speech of the underlined word is :
(A) Interjection  (B) Conjunction
(C) Pronoun (D) Determiner

11. 'Inthe Indian context, the concept of The
word 'concept' mean :

(A) Care
(C) Curiosity

(B) Inception
(D) Idea
12. The Independence was achieved in India

(A) through violent means

(B) by making use of every resource
available

(C) through a long struggle

(D) by self-reliant leadership

13. Our leaders' vision of independent India
was based on :

(A) economic self-reliance

(B) diversification of employment

(C) boycott of foreign goods

(D) development of defence forces

14. In addition to economic growth our
society, as a consequence, also needs

(A) to pay attention to climatic changes.

(B) just and equitable distribution of
wealth

(C) development of countryside.

(D) to give importance to cultural
variety.

15. Study the following statements :

A. Along the economic growth, we also
want to develop a united nation with
one aim.

B. Anoble and liberal society depends
entirely on economic wealth.
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(A) Both (A) and (B) are right.

(B) Both (A) and (B) are wrong.

(C) Aisright and (B) is wrong.

(D) Ais wrong and (B) is right.

Direction (Q. No. 16 to 23)

Read the passage given below and answer the
questions that follow by choosing the correct/
most appropriate options :

The other day I received an unusual and very
gratifying gift : I was given a tree. Or rather,
I was given half-a-dozen trees, which would
be planted on my behalf. I had been invited
to give a talk to an organisation. After such
events, the speaker is usually given a token
gift. Sometimes the gift is that of a pen, or
something useful. Often, the gift is in the form
of a plaque or similar commemorative token.
However well-meant, such gifts are destined to
gather dust in forgotten corners. Which is why
I was agrreably surprised to be given a scroll
which attested that, in a designated plantation
established for the purpose, six trees would be
added in my name, as part of ‘green’ movement
being sponsored by the organization.

In an increasingly environmentally-conscious
world, the gift of a living tree or plant makes
for a perfect present. The tradition of giving
and receiving gifts has increasingly become a
highly evolved marketing exercise. Apart from
festivals like Diwali, Holi, Christmas, Eid and
others, a whole new calendar of celebratory
events has been created to promote the giving
of gifts : Mother’s Day, Father’s Day, Teacher’s
Day, Valentine’s Day and so on and on.

What do you give to people — friends, relatives,
spouses, children, parents, employees, clients,
well-wishers who have more or less everything,
or at least everything that you could afford to
give them as a gift? Another shirt or kurta?
Another bottle of scent or aftershave? Another
box of chocolates ? Another any other?

16. Why do you not very much care for it
when you receive a shirt or a kurta as a
gift ?

(A) You already have so many of them

(B) You don’t like the colour

(C) You were not asked about your
choice

D)

17. The word ‘gratifying’ means :

(B) giving
(D) annoying

The giver had to spend a lot of money

(A) satisfying

(C) fortifying
18. The word ‘destined’” means :

(A) decided (B) declined

(C) departed (D) fated

19. Name the part of speech of the underlined
word in the following clause :
which is why I was agreeably surprised.
(A) Adjective
(C) Adverb

20. Identify the part of the following sentence
which has an error in it.

(B) Pronoun
(D) Preposition

(a) Your claim ought
(b) to succeed in that case
(c) the damages
(d) will be substantial
(A) (b) (B) (¢)
©) @ (D) (a)
21. The writer was thrilled when he was
given :

(A) six trees (B) aplaque

(C) apen (D) atree
22. What usually happens to the gifts he/she
receives?

(A) He gives them away as gifts to others
(B) They are put away and forgotten
(C) He keeps them religiously as
mementoes
(D) He uses them if he needs them
23. The gift received by the writer was :
(A) environment friendly
(B) very expensive
(C) gathering dust in a corner
(D) amarketing exercise
Read the passage given below and answer
the questions by selecting the correct/most
appropriate options :
With more than 3,000 languages currently
spoken, English undoubtedly is amongst the
richest of all languages. The Oxford English
Dictionary lists about half a million words of
which only 2,00,000 are frequently used. This
is because, the balance 3,00,000 words are
technical and not found in ordinary dictionaries.
The only language that can come near English
is Chinese.
Apart from being the richest language, English
also boasts of being one of the most widely
spoken, second only to Mandarin Chinese. This
remarkable achievement is only because of the
one thing that we all love to do— copy ! ‘Siesta’
for example is of Spanish origin. ‘Sputnik’ as
you must be aware of, has a Russian origin.
‘Restaurant’ is from France and ‘Super’ from
Germany. Even before the birth of the ‘genius’
of ‘drama’, William Shakespeare, the words
‘genius’ and ‘drama’ were adapted from Greek.



Now, you must be wondering if English has
anything original about it. Well, find it out !
Did you ever to find out how many different
words of English we use in our daily life? Try
to guess and then read on. A modern novelist
has a vocabulary of anywhere between ten to
fifteen thousand words.
William Shakespeare used thirty thousand
words and the only writer to come close to him
was James Joyce in ‘Ulysses’. We normally
have a vocabulary of about ten thousand
words of which only five thousand are used in
everyday conversation. This leads to a limited
variety of words. This is because we repeat a
lot of words. In conversation and in writing, it
is ‘the’. (Try counting it in this article and you
will have proof of it.)
24. How many words are usually used by an
English speaking person?
(A) 5,000 (B) 10,000
(C) 15,000 (D) 3,000
25. Which of the following words is most
often used in English language?
(A) the (B) is
(C) one (D) a
26. The word that is similar in meaning to the
word, ‘remarkable’ is :
(A) remedial
(B) remaining
(C) optional
(D) astonishing
27. The word that is opposite in meaning to
the word, ‘ordinary’ is :
(A) complex (B) special
(C) liable (D) usual
28. Which part of speech is the underlined
word in the following sentence?
Did you ever try to find out ?
(A) Adjective (B) Pronoun
(C) Verb (D) Adverb
29. English is the most widely used language
in the world because :
(A) itis the richest language
(B) it has taken words from other
languages
(C) it has half a million words in it
(D) Shakespeare has written in English
30. In our everyday conversation we use a
limited number of words because :
(A) we are not a genius like Shakespeare
(B) everybody is not highly educated
(C) we repeat a lot of words
(D) our vocabulary is unlimited

Direction (Q. No. 31 to 38)

Read the passage given below and answer the
questions that follow by selecting the correct/
most appropriate options :

As science progresses, superstitions ought to
grow less. On the whole, that is true. However,
it is surprising how superstitions linger on. If
we are tempted to look down on savage tribes
for holding such ideas, we should remember
that even today, among most civilised nations,
a great many equally stupid superstitions exist
and are believed in by a great many people.
Some people will not sit down thirteen at a
table; or will not like to start anything important
on a Friday; or refuse to walk under a ladder.
Many people buy charms and talismans because
they think they will bring them luck. Even in
civilised nations today, many laws are made
on the basis of principles which are just as
much unproved. For instance, it is often held
as a principle that white people are by nature
superior to people of other colours. The ancient
Greeks believed that they were superior to the
people of Northern and Western Europe. The
only way to see if there is anything in such
a principle is to make scientific studies of a
number of white and black and brown people
under different conditions of life and find out
just what they can and cannot achieve.
Ifis, however, true that the increase of scientific
knowledge does reduce superstition and also
baselesss guessing and useless arguments and
practices. Civilised people do not argue and
get angry about what water is composed of.
The composition of water is known, and there
is no argument about it.
31. Who believe in superstitions ?
(A) Only some civilised nations.
(B) Only some tribals.
(C) Alltribals and some civilized nations.
(D) All civilised nations.
32. Study the following statements.
(a) Ancient Greeks were superior to
other European nations.
(b) Science helps us fight superstitions.
(A) (a)is wrong and (b) is right.
(B) Both (a) and (b) are right.
(C) Both (a) and (b) are wrong.
(D) (a) is right and (b) is wrong.
33. Which part of speech is the underlined
word in the following sentence ?
On the whole that is true.
(A) Pronoun
(B) Conjunction

(C) Preposition
(D) Determiner
34. Identify the part of speech of the underlined
word in the following sentence.
It is often held that as a principle.
(A) Adverb
(B) Adjective
(C) Preposition
(D) Pronoun
35. Fill in the blank in the following setence.
.............. is opposite in meaning to the
word, ‘superior’.
(A) Prior
(B) Inferior
(C) Lower
(D) Higher
36. The statement which best sums up the
passage is :
(A) Irrational beliefs decline with the
advancement of science.
(B) Civilized nations are no less
superstitions than the savage tribes.
(C) We are very different from the
savage nations in our beliefs.
(D) Superstitions disappear with the
advancement of science.

37. We should not despise the savage tribes
because :

(A)
®)
©

they indulge in useless arguments.
the have stopped being superstitious.
we are no less superstitions than they
are.
D)
38. Which of the following has a scientific
basis for it ?

they do not believe in science.

(A) Number thirteen is inauspicious.

(B) Talismans and charms always bring
luck.

(C) Fridays are as good as other days.
(D) We should not walk under a ladder.

Read the passage given below and answer the
questions that follow by selecting the correct/
most appropriate options.

If asked, “What matters are related to health
i.e. health decisions ?” most of us would
answer — hospitals, doctors and pills. Yet we
are all making a whole range of decisions about
our health which go beyond this limited area
of doctors, pills etc. For example, whether or
not to smoke, take exercise, wear a seat belt,
drive a motor bike, drink alcohol regularly etc.
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The way we reach decisions and form attitudes
about our health is only just beginning to be
understood.

The main paradox is why people
consistently do things which are known to
be very hazardous. Two interesting examples
of this are smoking and not wearing seat belts.
Addiction makes smokers keep on smoking and
whether to wear a seat belt or not is affected
by safety considerations. Taken together
both these examples show how people reach
decisions about their health. Understanding
this process is crucial. Only then can we
effectively change public attitude towards
voluntary activities like smoking.

Smokers run the risk of contracting heart
disease, several times more as compared
to non-smokers. Even lung cancer. Despite
extensive press campaigns which have regularly
told smokers and car drivers the grave risks
they are running, the number of smokers and
non-wearers of seat belts has remained much
the same. Although the numbers of deaths
from road accidents and smoking are well
publicized, they have aroused little public
interest.

If we give smokers the real figures of deaths
caused by smoking, will it affect their views
on the dangers of smoking ? Unfortunately
not. Many of the real figures are in the form
of probable estimates and evidence shows that
people are very bad at understanding this kind
of information.

39. Study the following statements :

(a) Though it is very dangerous, some

people don’t quit smoking.

(b) Whether or not to drink alcohol is

not a health decision.

(A) (a) is wrong and (b) is right.

(B) Both (a) and (b) are right.

(C) Both (a) and (b) are wrong.

(D) (a) is right and (b) is wrong.

40. Which of the following pieces of advice
can be easily ignored by the people ?

(A) Wear a seat belt.

(B) Don’t drink alcohol.

(C) Don’t drive a motor bike.

(D) Don’t smoke.

41. Which part of speech is the underlined
word in the following sentence ?

Yet, we are all making a whole range

of decisions.

(A) Conjunction (B) Pronoun

(C) Preposition (D) Adverb
42. Which part of speech is the underlined
word in the following setence ?
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Understanding this process is crucial.
(A) Preposition
(B) Adverb
(C) Conjunction
(D) Determiner
43. Smokers run double the risk of contracting
heart disease.
The word ‘contracting’ here means
(A) removing
(B) catching
(C) avoiding
(D) receiving
44. An example of ‘limited area’ of health
is :
(A) taking exercise
(B) wearing a seat belt
(C) taking medicines
(D) smoking
45. Why does a common man choose to
wear a seat belt ?
(A) He wants to protect himself.
(B) It is fitted in the car.
(C) For fear of the policeman.
(D) There is a law for it.
Read the passage given below and answer the
questions that follow by selecting the correct/
most appropriate options.

“A principal fruit of friendship”, Francis
Bacon wrote in his timeless meditation
on the subject, “is the ease and discharge
of the fullness and swellings of the heart,
which passions of all kinds do cause and
induce.” For Thoreau, friendship was one of
life’s great rewards. But in today’s cultural
landscape of muddled relationships scattered
across various platforms for connecting,
amidst constant debates about whether
our Facebook ‘friendships’ are making
us more or less happy, it pays to consider
what friendship actually is. That’s precisely
what CUNY Philosophy professor Massimo
Pigliucci explores in Answers for Aristotle :
How Science and Philosophy Can Lead Us
to a More Meaningful Life (public library),
which also gave us this provocative read on
the science of what we call ‘intuition’.

Philosophers and cognitive scientists agree
that friendship is an essential ingredient
of human happiness. But beyond the dry
academic definitions—Ilike, say, “voluntary
interdependence between two persons
over time, which is intended to facilitate
socio-emotional goals of the participants,
and may involve varying types and degrees
of companionship, intimacy, affection

and mutual assistance”—lies a body of

compelling research that sheds light on how,

precisely, friendship augments happiness.

The way friendship enhances well-being, it

turns out, has nothing to do with quantity and

everything to do with quality—researchers
confirm that it isn’t the number of friends (or,
in the case of Facebook, ‘friends’).

46. The change in the present situation which
has forced us to rethink the concept of
friendship is—

(A) thereis more interest in the sciences

(B) friendships are not possible in the
real world anymore, due to over-
competition

(C) Bacon and Thoreau’s theories are no
longer available to read

(D) the arrival of social media on the
scene

47. Friendship leads to happiness. Is it true?
(A) Friends cannot make each other

happy

(B) One needs to find one’s happiness
alone, with peace of mind

(C) Yes, researches have proven that
friendship does lead to happiness

(D) No, there is no relationships bet-
ween friendship and happiness

48. Did Pigliucci’s book discuss intuition
too ?

(A) It discussed Aristotle’s theories

(B) Yes

(C) No, it only discussed friendship

(D) It just explained science and
philosophy

49. Is the quality of friends important ?

(A) Yes, it matters

(B) No, quality comes automatically
with quantity

(C) No, it is important to have more
number of friends, quality does not
matter

(D) No, number of comments on social
networking sites is important, not the
quality of friends

50. As per the first paragraph, what are the
debates about ?

(A) The quality of comments of social
media is debatable.

(B) Thoreau and Aristotle’s thinking is
at loggerheads.

(C) They are centered around whether
our Facebook friends are helping us
become more or less happy.

(D) There are no debates around



friendship.
51. The word that is opposite in meaning to
the word ‘muddled’ is—
(A) ordered (B) rumpled
(C) confused (D) chaotic

Direction (Q. No. 52 to 58)

Read the passage given below and answer the
questions that follow by selecting the correct/
most appropriate options.

The strength of Indian democracy lies in
its tradition, in the fusion of the ideas of
democracy and national independence which
was characteristic of the Indian national
movement long before independence. Although
the British retained supreme authority over
India until 1947, the provincial elections of
1937 provided real exercise in democratic
practice before national independence. During
the Pacific War, India was not overrun or
seriously invaded by the Japanese and after
the War was over, the transfer of power to a
government of the Indian Congress Party was
a peaceful one as far as Britain was concerned.
By 1947, Indianization’ had already gone far
in the Indian Civil Service and army, so that
the new government could start with effective
instruments of central control.

After independence, however, India was
faced with two vast problems, the first, that
of ethnic diversity and the aspirations of sub-
nationalities. The Congress leadership was
more aware of the former problem than of
the second; as a new political elite which had
rebelled not only against the British Raj, but
also against India’s social order; they were
conscious of the need to initiate economic
development and undertake social reforms, but
as nationalists who had led a struggle against
alien rule on behalf of all parts of India, they
took the cohesion of the Indian nation too much
for granted and underestimated the centrifugal
forces of ethnic division, which were bound to
be accentuated rather than diminished as the
popular masses were more and more drawn
into politics. The Congress Party was originally
opposed to the idea of recognizing any division
of India on a linguistic basis and preferred to
retain the old provinces of British India which
often cut across linguistic boundaries; it was
only in response to strong pressures from
below that the principle of linguistic States
was conceded as the basis of a federal ‘Indian
Union’. The rights granted to the States created
new problems for the Central Government. The
idea of making Hindi the national language of a
united India was thwarted by the recalcitrance
of the speakers of other important Indian

languages and the autonomy of the States
rendered central economic planning extremely
difficult.

Land reforms remained under the control of the
States and many large-scale economic projects
required a degree of cooperation between the
Central Government and one or more of the
States which it was found impossible to achieve.
Coordination of policies was difficult even
when the Congress Party was in power both in
the States and at the Centre; when a Congress
government in Delhi was confronted with
non-Congress parties in office in the States, it
became much harder.

52. Choose the word which is most nearly the
same in meaning as the word ‘thwarted’
as used in the passage.

(A) Accepted
(B) Diverted
(C) Opposed
(D) Implemented

53. Choose the word which is most opposite
in meaning of the word ‘conceded’
as used in the passage.

(A) Denounced
(B) Withdrawn
(C) Criticized
(D) Rejected

54. Why was central economic planning
found to be difficult ?

(A) Autonomy given to the States in
certain matters

(B) Lack of will in implementing land
reforms

(C) Multiplicity of States and Union
Territories

(D) Lack of coordination in different
government departments
55. Which one of'the following problems was
India faced with after independence ?
(A) Improper coordination of various
government policies

(B) Increasing the production from a
very low level

(C) Military attack from across the
border

(D) Lack of coordination between the
Central and State Governments

56. Which one of the following issues was
not appropriately realized by the Central
Government ?

(A) Implementation of the formulated
policies

(B) Centre-State relations

(C) Ethnic diversity of the people

(D) A national language for the country
57. Which, according to the passage, can be

cited as exercise in democratic practice

in India before independence ?

(A) The Indianization of the Indian Civil

Service

(B) Several democratic institutions
created by the Indian National
Congress

(C) The handing over of the power by
British to India

(D) None of the above
58. Which one of the following statements is

not true in the context of the passage?

(A) The political elite in India rebelled
against the British Raj.

(B) The Congress leadership was fully
aware of the problems of ethnic
diversity in India at the time of
independence.

(C) The Congress Party was originally
opposed to the idea of division of
States on linguistic basis.

(D) Economic development and social
reforms were initiated soon after
independence.

Read the passage given below and answer the
questions that follow by selecting the correct/
most appropriate options.

Peoples’ faces light up when I say I taste
chocolate for a living, but it is not always
delicious. I also have to taste defective
chocolate, which might have a bitter or burnt
flavour. I’m usually in a small room, not
allowed to talk, and parked in front of a
computer to log information. Sometimes
the room has red lighting to disguise the
appearance of the chocolate, so I can evaluate
it only by taste, not appearance. I can sample
as many as 30 chocolates per day, so as to
keep my palate active, I spit the sweets back
out. That’s another not-so-glamorous part of
the job. Between samples, I wait 30 seconds to
let my senses rest, and I chew half an unsalted
cracker biscuit and drink plain warm water, as
carbonated water and ice numb one’s senses.

First I smell the chocolate and log its aroma.
I also listen : if chocolate doesn’t sound crisp
when broken, it may be a sign it’s old or was
improperly stored. Then I place one inch bit in
my mouth and leave it there for a few seconds.
I press it against my palate and let it melt,
recording the four basic tastes—sweet, sour,
bitter and salty. Then I blow out short puffs of
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air through my nose. Certain sense receptors
in the back of our head are stimulated by
oxygen. They allow us to smell food when we
chew. Exhaling sharply can bring out aromas
like berry, mushroom, tea, citrus, beeswax,
toast, cinnamon, and savoury spices that are
sometimes too subtle for the nose to catch. I
log these attributes, too, along with the texture.

59. People get surprised when the narrator
tells them that he
(A) has to eat bitter chocolate
(B) has to work in a small room
(C) is a chocolate taster
(D) has to work under red light
60. There is no glamour in his job as
(A) his place of work is narrow
(B) he never ate burnt chocolate
(C) he has to blow out short puffs
(D) he keeps on spitting out chocolate
61. The narrator cannot eat and enjoy the
chocolate :
(A) to keep his palate active
(B) as it has a burnt flavour
(C) as it has not been stored properly
(D) as it is defective
62. The process of chocolate tasting runs in
the order of ............ and again smelling.
(A) smelling, breaking, listening,
melting
(B) melting, listening, breaking,
smelling
(C) breaking, smelling, listening,
melting
(D) breaking, listening, smelling,
melting
63. “Leave it there.”

When the above sentence is changed into
passive voice, it becomes :
(A) It was left there.
(B) Let it be left there.
(C) Let it was left there.
(D) Itis left there.

64. “Peoples’ faces light up .............. J
The word ‘light” here is a/an
(A) verb (B) adjective
(C) adverb (D) noun

65. The word ‘parked’ (Para 1) means

(A) operated (B) seated

(C) ran (D) managed
66. The word ‘log’ (Para 2) means

(A) cut (B) enjoy

(C) taste (D) record
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Direction (Q. No. 67 to 73)

Read the passage given below and answer the
questions that follow by selecting the correct/
most appropriate options.

The Kittur Fort
One can see today only the dilapidated walls
and ruins of the great fort which was once
known for its strength. The most important
landmark as one goes towards the fort is the
‘Bahadurgad’. Situated to the southwest of
the fort and outside of it, on a natural hillock,
the highest in the plain, the Bahadurgad',
which was the watchtower, provides a most
panoramic and commanding view of the
sparsely wooded surrounding region of green
grassland, fading, as if gradually, into soft
contoured hills in the west and the horizons
on the other sides. To the north of the tower
is Ranagattikeret where Rani Chennamma
fought her last stubborn fight against the
British, with almost savage determination.
The actual fort, circular in plan, consisted
of double walls, separated by moats on the
outer sides, with semi-circular bastions on
the exterior of the outer wall. It had originally
the main gateway on the east, approached by
the causeway across the outer moat known
as ane honda which was used for bathing the
elephants.
The entrances through the walls are
deliberately not aligned, evidently in the
interests of security. After passing by the
winding path through the walls, one is led to
the front side of the imposing main entrance of
the palace located near the northern arc of the
inner fort wall.
To the south of the palace, inside the fort, are
the ruins of horse-stables and foundations
of residential buildings, probably meant for
the important officials of the palace. To the
southwest is the heavily built watchtower
relieved by a series of parallel buttresses at
regular intervals.
67. Which one of the following statements
is true ?
(A) From it, one can enjoy a view of the
hills in the east.
(B) It was used as a watchtower.
(C) Rani Chennamma ruled Kittur from
here.
(D) Bahadurgad is situated inside the
Kittur Fort.
68. Rani Chennamma fought against the
British :
(A) in the contoured hills
(B) at Ranagattikere

(C) in Bahadurgad Fort
(D) in the wooded grasslands
69. From Bahadurgad, one could easily get
(A) to see tall rugged hills in the west
(B) alook at green grasslands
(C) to see a natural hillock
(D) a commanding view of a dense
forest
70. Unaligned gates in the walls
(A) make the fort secure
(B) make the fort insecure
(C) make the walls look imposing
(D) make the entry easy
71. “... as one goes towards ....”
‘one’ in the above clause is a/an
(A) verb (B) pronoun
(C) adjective (D) noun
72. “... and commanding view of ....”
‘commanding’ in the above phrase is a/

an
(A) verb (B) adjective
(C) adverb (D) noun
73. The word ‘landmark’ means the same as
(A) adventure (B) hill
(C) plain (D) marker
Poem

Direction (Q. No. 1 to 6)
Read the poem given below and answer the
questions that follow by selecting the correct/
most appropriate options :

That time of year thou mayst in me behold,
When yellow leaves, or none, or few do hang
Upon those boughts which shake against the
cold
Bare ruined choirs, where late the sweet birds
sang.
In me thou seest the twilight of such day,
As after sunset fadeth in the west,
Which by and by black night doth take away,
Death’s second self that seals up all in rest.
In me thou seest the glowing of such fire,
That on the ashes of his youth doth lie,
As the death-bed, whereon it must expire,
Consmed with that which it was nourished by.
This thou perceiv’st, which makes thy love
more strong,
To love that well, which thou must leave ere
long.

1. What does ‘Death’s second self” stand

for?

(A) ashes of one’s youth



(B) setting sun
(C) sleep that gives rest
(D) adying fire
2. ‘That on the ashes of his youth doth lie’.

Which figure of speech has been used in
the underlined phrase ?

(A) Personification
(B) Alliteration
(C) Simile
(D) Metaphor
3. The theme of the poem is
(A) love
(B) songs of the birds
(C) the idea of death

(D) the change of seasons

4. The poet’tlife, today, is like........... season.
(A) winter (B) summer
(C) spring (D) autumn

5. In this season the branches have..........
leaves.
(1) few
(i) no

(A) either (i) or (ii)
(B) neither (i) nor (ii)
(C) only (i)
(D) only (i1)
6. What did the branches of the tress enjoy
earlier ?
(A) bright light of the sun
(B) darkness after the sunset
(C) aruined group of singers
(D) sweet songs of birds
Direction (Q. No. 7 to 12)
Read the given poem and answer the
questions that follow and select the most
appropriate option.
I want to be with people who submerge
in the task, who go into the fields of harvest
and work in a row and pass the bags along,
who are not parlour generals and field deserters
but move in common rhythm
when the food must come in or the fire be
put out.
The work of the world is common as mud.
Botched, it smears the hands, crumbles to dust.
But the thing worth doing well done
has a shape that satisfies, clean and evident.

Greek amphoras for wine and oil,
Hopi vases that held corn, are put in museums
but you know they were made to be used.
The pitcher cries for water to carry
and the person for work that is real.
7. The poet seems to admire
(A) farm workers
(B) parlour generals

(C) field deserters

(D) wage earners

8. What is common between parlour generals
and field deserters ?

(A) Both of them love fighting
(B) Both love to work
(C) Both enjoy respect in society
(D) Neither of them fights
9. What happens when work with mud gets
botched ?
(A) It is abandoned
(B) It leads to satisfaction
(C) Hands get dirty
(D) No one pays for it

10. The figure of speech used in lines 12-14
1S e .

(A) metaphor  (B) personification

(C) alliteration (D) irony

11. Mud in the hands of a good craftsman
becomes .......cccceueueee .

(A) amuseum piece
(B) auseful article
(C) an expensive article

(D) awork of art

12. Amphoras, vases and pitchers are metaphors
| 10) SRR .

(A) antique art
(B) useful human labour
(C) pride in wealth

(D) items of luxury

Direction (Q. No. 13 to 18)

Read the given poem below and answer the
questions that follow by selecting the most
appropriate option.
Hawk
All eyes are fearful of the spotted hawk, whose

dappled wingspread opens to a phrase that only
victims gaping in the gaze
of Death Occurring can recite. To stalk; to
plunge;
to harvest; the denial-squawk
of dying's struggle; these are but a day's
rebuke to hunger for the hawk, whose glazed
accord with Death admits no show of shock
Death's users know it is not theirs to own,
Nor can they fathom all it means to diefor young
to know a different Death from old.
But when the spotted hawk's last flight is flown,
He too becomes a novice, fear- struck by
The certain plummet once these feathers fold.
—Daniel Waters
13. The denial-squawk refers to the :
(A) hawk's response to the cry ofits prey
(B) helpless cry of its prey to avert death
(C) warning call by the hawk before
killing its prey
(D) desperate, pitiable cry of the prey
14. To the hawk, a day's rebuke to hunger
suggests that the bird :
(A) bows to hunger
(B) causes death by preying on lesser
animals
(C) averts own death by killing and
eating its prey
(D) faces death fearlessly in contrast to
its prey
15. Here, glazed accord with Death means
that :
(A) the prey meets death willingly
(B) death is inevitable
(C) death is in partnership with
starvation
the hawk also becomes a victim of
death at the end
16. The word that is closest in meaning to
the word dappled in the poem is :

(D)

(A) spotted (B) fearful
(C) glazed (D) flown

17. Here, he too becomes a novice suggests
that :

(A) the hawk's prey becomes a predator
instead

(B) all living creatures are potentially
victims of others

(C) death comes swiftly to the fearless
hawk

(D) the hawk also meets death, as weak
and helpless as its prey
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18. The following line exemplifies the use of
personification as a poetic device :
(A) Death's users know it is not theirs to
own....
B) .. the certain plummet once these
feathers fold.
(C) To stalk; to plunge; to harvest;...
(D) But when the spotted hawk's last
flight is flown...
Read the given poem and answer the
questions that follow by selecting the most
appropriate option.
Remnants Left Behind
A leaf detaching
herself from a tree
strong winds howling
catching in a gale
just won’t let her be.
A ship sailing on an
ocean
being bashed by heavy
winds
forcing her to dry
land
seeking asylum once
again.
Footprints in the sand
leaving behind positive
thoughts
until the tide rushes
in
and everything is lost.
Remnants of two lovers
once so young, and bold
signatures etched on a
heart
A love story never told.
Heather Burns

19. The poet’s message here is about the

power of :
(A)

(B) nature that can create or destroy

human love that is permanent

(C) the sea over human life

human beings over nature

k)

20. “.......... just won’t let her be ....” uses
............ as the poetic device.

simile

(B) personification

(C) fallacy

exaggeration

272 | AGRAWAL =XAMCART

21. In the phrase “....
‘asylum’ here means

. »
seeking asylum”,

(A) port (B) shore
(C) beach (D) cliff
22. “....Footprints in the sand .....” symbolises

(A) false images
(B) brief lives
(C) short memories

(D) patterns on the sand

23. The line “Remnants of two lovers ...”
suggests to the reader that the lovers
(A)
(B) have decided to spend their lives

had died together at sea

together
(C) areno longer in love with each other
D)

24. In“.... signatures etched ona...”, ‘etched’

are now separated from each other

means.
(A) chipped (B) scratched
(C) engraved (D) cut

Read the given poem and answer the

questions that follow by selecting the most

appropriate option :

As I Watch You Grow

Do you know how much you mean to me?
As you grow into what you will be.
You came from within, from just beneath my
heart
It’s there you’ll always be though your own life
will now start.
You’re growing so fast it sends me a ~ whirl,
With misty eyes I ask, Where’s my little girl?
I know sometimes to you I seem harsh and so
unfair,
But one day you will see, I taught you well
because I care.
The next few years will so quickly fly,
With laughter and joy, mixed with a few tears
to cry.
As you begin your growth to womanhood, this
fact you must know,
You’ll always be my source of pride, no matter
where you go.
You must stand up tall and proud, within you
feel no fear,
For all you dreams and goals, sit before you
very near.
With God’s love in your heart and the world by
its tail,

You’ll always be my winner, and victory will
prevail.
For you this poem was written, with help from
above,
To tell you in a rhythm of your Mother’s heart-
felt love! Kay Theese
25. ‘Do you know how much you mean to
me?’ 1S @ .coceeeenene. question.
(A) rhetorical (B) restrictive
(C) convergent (D) divergent
26. An antonym for the word ‘harsh’ is
(A) severe (B) mild
(C) grim (D) clashing
27. In the expression ‘It sends me a whirl’,
‘it” refers to
(A) travelling far
(B) growing up
(C) new experiences
(D) the real world
28. To ‘stand up tall’ is
(A) growing up healthy
(B) be tall like the boys
(C) being fearless
(D) getting ambitious
29. The phrase ‘the world by its tail’ means
to
(A) be a good follower
(B) overcome challenges
(C) face one’s enemies
(D) to avoid challenges
30. The poem addresses a
(A) friend (B) daughter
(C) mother (D) girl
Direction (Q. No. 31 to 36)
Read the poem given below and answer the
questions that follow by selecting the most
appropriate option.

I Bulid Walls
I build walls:
Walls that protect,
Walls that shield,
Walls that say I shall not yield
Or reveal
Who I am or how I feel.

I build walls:

Walls that hide,

Walls that cover what’s inside,

Walls that stare or smile or look away,
Silent lies,

Walls that even block my eyes



31.

32.

From the tears I might have cried.

I build Walls:

Walls that never let me

Truly touch

Those I love so very much.

Walls that need to fall!

Walls meant to be fortresses

Are prisons after all.

What are the walls in this poem made
of ?

(A) Hidden feelings and thoughts
(B) Bricks or any physical material

(C) Cement and tiles
(D) Blood and flesh

The poet uses “walls’” as a :
(A) Alliteration
(B) Simile

(C) Personification

Hope is the thing with feathers

That perches in the soul,

And sings the tune—without the words,

And never stops at all,

And sweetest in the gale is heard;

And sore must be the storm
That could abash the little bird
That kept so many warm,

I’ve heard it in the chillest land,
And on the strangest sea;

Yet, never, in extremity,

It asked a crumb of me.

37.

38.

Emily Dickinson
In the line ‘Hope is the thing with feath-
ers’ the poet is using a/an
(A) hyperbole (B) imagery
(C) simile (D) allegory
The observation ‘perches in the soul’
refers to human.

Common Cold

1. Go hang yourself, you old M.D.!

You shall not sneer at me.

Pick up your hat and stethoscope,

Go wash your mouth with laundry soap;
I contemplate a joy exquisite

I’m not paying you for your visit.

1 did not call you to be told

My malady is a common cold.

. By pounding brow and swollen lip;

By fever’s hot and scaly grip;

By those two red redundant eyes
That weep like woeful April skies;
By racking snuftle, snort, and sniff;
By handkerchief after handkerchief;
This cold you wave away as naught

Is the damnedest cold man ever caught!

3. Bacilli swarm within my portals

Such as were ne’er conceived by mortals,

But bred by scientists wise and hoary

(D) Metaphor (A) spirituality In some Olympic laboratory;
B i Bacteria as large as mice,
33. When walls act as a protection, they (B) worries . & )
. (C) disappointment With feet of fire and heads of ice
(A) surrender to strong feelings (D) expectation Who never interrupt for slumber

34.

(B) do not reveal what is inside

(C) make one shed tears
(D) touch the ones who are truly loved
The expression ‘silent lies’ in the second

stanza implies that :

39.

‘And sweetest in the gale is heard’
means :

(A) joy and happiness go hand in hand
(B) winds blow loudly during a gale

(C) sorrow is the greatest during a

Their stamping elephantine rumba.

43.

44.

What is the emotion that the poet displays
in the first stanza?
(A) Anger

(C) Jealousy

(B) Joy
(D) Sympathy
Why and at whom does the poet show his

(A) walls lie silently around all of us storm emotion?
(B) walls are silent (D) expectation of relief even in sorrow (A) Atan old man because he has sneered
(C) walls are liars 40. ‘Abash’ means a sense of : at the poet
(D) walls make one hide one’s true (A) pride (B) Atadoctor for an incorrect diagnosis
feelings of his medical condition
(B) embarrassment . . ,
35. Why is it not a good idea to have these (C) Atafriend who is happy at the poet’s
(C) hope light
“walls**? plg .
(D) loss (D) At a doctor who has said the poet
(A) They hurt others 41. ‘Never, in extremity,” refers to : merely has a cold
(B) They act as a fortress 45. The poet describes his eyes as ‘two red

©

They act as a prison and keep loved
ones away

(D) They are made of bricks

(A) unexpected

(B) extreme happiness
(C) longing excessively
(D) hope costs nothing

redundant eyes’ because :
(A)
B)

he cannot see properly due to the cold

they show how furious the poet is

36. Walls build to protect us ultimately turn 42, “A crumb’ i  metaphor for (C) they have been affected by an eye-
into a prison. It is an example of a : disease
A) food B) h
(A) riddle (B) satire (&) foo (B) hope (D) in his medical condition the poet is
(C) sandess (D) reward . .. .
(C) paradox (D) puzzle imagining things

Direction (Q. No. 43 to 48)

46.

‘Bacteria as large as mice’ is an instance

Direction (Q. No. 37 to 42)

Read the given poem and answer the

Read the poem given below and answer the fa
of a/an :
questions that follow by selecting the most

questions that follow by selecting most (A) simile and a hyperbole

appropriate option.
appropriate option.
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47.

48.

(B) metaphor

(C) personification

(D) alliteration

‘Who never interrupt for slumber Their

stamping elephantine rumba.’ The

meaning of these lines is that :

(A) the bacteria are continuously
stamping their elephant-like feet

(B) the cold-causing germs are causing

much discomfort and pain to the poet

without any break

(C) the bacilli are so active that they

refuse to go to sleep

(D) the poet is not able to concentrate on

his work due to the raging cold

The general tone of the poem can be
described as :

(A)
(B)
©
(D)

satirical and harsh
ironical and mocking
whimsical and humorous

sad and tragic

Direction (Q. No. 49 to 54)

Read the poem given below and answer the

questions that follow by choosing the most

appropriate option.

274 |

The Hand Holders :

A Tribute To Caregivers
There is no job more important than yours,
no job anywhere else in the land.
You are the keepers of the future;
You hold the smallest of hands.
Into your care you are trusted
to nurture and care for the young,
and for all of your everyday heroics,
your talents and skills go unsung.
You wipe tears from the eyes of the
injured.
You rock babies brand new in your arms.
You encourage the shy and unsure child.
You make sure they are safe from all harm.
You foster the bonds of friendships,
letting no child go away mad.
You respect and you honour their emotions.
You give hugs to each child when they’re
sad.
You have more impact than does a
professor,
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49.

50.

51.

52.

53.

a child’s mind is moulded by four;
so whatever you lay on the table
is whatever the child will explore.
Give each child the tools for adventure,
let them be artists and writers and more;
let them fly on the wind and dance on the
stars
and build castles of sand on the shore.
It is true that you don’t make much money
and you don’t get a whole lot of praise, but
when one small child says “I love you”,
you’re reminded of how this job pays.
Author unknown
The expression ‘the smallest of hands’
refers to :
(A) caregivers with small hands
(B) parents with small hands
(C) people with small hands
(D) babies
Though caregivers look after the young
they are :
(A) not properly recognised
(B) not loved by the children under their
care
(C) paid very well in return
(D) never tired of their work
A caregiver has more influence on a child
than a professor because :
(A) the professor is not capable of
providing love to a child
(B) the child spends the formative years
with the caregiver
(C) the caregiver can teach better than a
professor
(D) the child generally prefers a caregiver
to a professor
What is the most valuable gift that a
caregiver gets?
(A) Praise from the parents
(B) Money for her services
(C) Love from children
(D) Acknowledgement of the society
“You give hugs to each child when they’re
sad.” This act can be described as one of :
(A) encouragement
(B) recrimination

54.

(C) reassurance

(D) empathy

‘Letting no child go away mad’ — the

meaning of this line is :

(A) no child is permitted to go away from
school without permission

(B) no child is allowed to become mad

(C) no caregiver is permitted to be mad
with a child

(D) no child is allowed to be angry for
long

26.
31.
36.
41.
46.
51.

. (B) 2.
.(©) 7.
11.
16.
21.
26.
31.
36.
41.
46.
51.
56.
61.
66.
71.

.(C) 2.
.(D) 7.

11.
16.
21.

Passage
(A) 3.(A) 4.
(C) 8.(D) o
(C) 13.(A) 14.
(A) 18. (D) 19.
(B) 23. (A) 24.
(B) 28. (D) 29.
(A) 33.(A) 34.
(C) 38.(C) 39.
(D) 43. (B) 44.
(C) 48. (B) 49.
(C) 53. (D) 54.
(D) 58. (B) 59.
(A) 63. (B) 64.
(B) 68. (B) 69.
(B) 73. (B)

(C) 5.
(C) 10.
(B) 15.
(B) 20.
(A) 25.
(B) 30.
(A) 35.
(D) 40.
(C) 45.
(A) 50.
(A) 55.
(A) 60.
(A) 65.
(A) 70.

©
(B)
©
(A)
(A)
©
(B)
©
(A)
©
(D)
D)
(B
(A)

(D) 12.
(A) 17.
(B) 22.
(D) 27.
(C) 32.
(A) 37.
(A) 42.
(D) 47.
(A) 52.
(C) 57.
(©) 62.
(D) 67.
(B) 72.

Poem
(D) 3.(C) 4.
(A) 8.(D) 9.
(B) 13. (B) 14.
(D) 18. (A) 19.
(C) 23.(C) 24.
(B) 28. (C) 29. (B) 30.
(D) 33.(B) 34. (D) 35.
(B) 38. (D) 39. (D) 40.
(D) 43. (A) 44. (D) 45.
(B) 48. (A) 49. (D) 50.
(C) 53.(C) 54. (C)

(A) 5.
(©) 10.

(©) 15.
(B) 20.
(B) 25.

(A)
D)
©
®)
D)
(B
©
(B)
(A)
(A)

(B) 12.
(A) 17.
(A) 22.
(B) 27.
(D) 32.
(C) 37.
(C) 42.
(A) 47.
(B) 52.
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& 59 quin fawfr - 2

6 A TAUTSTHAT © afs wwen 2 5en 3 2 yoiaan favreg &, o a
| 6% A quicen 9o erh 1

7 ¥ TNl © @& &7 3B 8@ SAb] SAdT ST B
YISl AEH] Dl Yol WAl & AW bl A W " | Afe g 40
| T (0) 3r2@l 7 ¥ fawiior eF arel | &, 91 e 6
A 7 fawfore 2

8 § fauethal : s & aifsm 99 9@t &1 g, afs 8 9
favre &, <1 98 "En 9 8 9 fawfora 2|
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9 F fAUTSIhdl : ofs T & 9 sl 1 A9, 9 F A
T, drag gEn 9 99 e e

11 Y FAUTSIRar © afe e § w9 weIHl uR #el & A0 g
faom TIMT TR 31T & A &7 4R, 11 9 faursy &, s 9=
9 119 fawrsg 26

TIMAA WM™ 4H
(Decimal Place Value)
I dIel] WA 7 <9eld & 9IS diel) WISl &l Uh—Udh
P HID T WIRN & | STMeId B qIS die] 3h 9 9 IR SR
Il <Hdl, VAT, E9Rdl, <% FwRdl #1fS 90T 2. 2 |
I : 58212360 3D WM A 3R I M &1 I0ed
S BRI

5821.236

ESIECIRS 0]
GICIRSIE]
3 1 IR A =3
3 @1 RIFF AM = 0.01
TARE =3 +0.01
=301

CUCIRR

HTd dlcll &A1 B $BIg 3P S Bl (Finding
the Unit Digit of a Powered Number)

L ufe {50 wm 3 3@ 3 o1 0, 1, 577 68 o fHe & a9
TR 5P Bl b IARaRiT T ¥ |
Sal. 1 (2010319 3 bIE BT b =0
(213172 9 g1 Bl b = 1
(1225) 9 gpIS Bl AP = 5
(129692 3 SIS Bl 8b = 6
0. If 1 9% % TPIE &1 3ib 491 9% T4
) W =™ ¥ wR—anie T & 35 B D AURafid
20 |
(i) F9 M BN W3 9= A Bl B H HAL:
641 12T |
T4l 1 (1914218 | T & B =6
(19147 & PTE T P = 4
(2019y*!6 ¥ TPBIE BT A6 = 1
(20197913 % g BT AT = 9
OL afE f o A 3PHE & 3id 2,3, 7MW A O DI 49
ART BRI | IO 1, 2, 31 4 B (I T o) R 591 &
3P B IHA T AT TR YO DY | YIS S B 5D
1 3 & T TS DI FPHIs &1 3@ BN |
TE1.1 ¢ (424371 511+ 4 B G ANBe 3 2R
9 31 39R 0T B3| 3 = 271 e apfire 5o
Pl b 7B
2 (1996)°212 W 5212+ 4 B R ANBA 4 (I T
<) 99 6 BT 4 R T BT 61 = 12961 ST
3¥Iee SIS Pl 3P 62

$4al. 2



O H WA § FHIS BT 3AF A4 BT (Finding
the Unit Digit in Multiplication Questions)
FE AT B YU BRI ZC ARG IBI Pl 3P AR BT 2, ol
A TS B Pl DI VN HT IS <RI YRIE UKl & P G2l
@ afh DI BT < | A W UK b & ST I BT AP BRT |

T1. : 468 x 26 % 1268 % 34683 H bIS Bl b S B |
wd 468x26x1268x346si (8 % 6V SIS Bl b = 8)
by , ,
SXE X i X i (8 x 8 ThIS & AF=4)
\8 x 8§ x 3 {4 > 37 gl Bl b =2)
Ny
\ e

m:aﬁwmﬁsﬁm%za‘ﬂm

IJTUIh (Logarithm)
P41 b W @ YU 98 urid 2l ¢ | R 9Roed
MER B Ga § AT BT 20, AMip A UTET T 31 |ab |
HRIIH Bl P39 Gl A H3 IR 2 |
ST & =28, Ty U o D MR B v x B TS E
=
ylogazi
2l y=log,x
TP ¥A—
log, (xv) =log,x +log, ¥

x
log, [}] =log,x—log,y

log.”

log,®
log, ¥ =nlog,x

fasmen® @@ g
(Binary Number System)

Teanend W ugl g v YAl aeE Ughl €

Tamend @1 a7e] 2 MR TTAl B, 7eIfe] hael 1 bl (0 AT 1)

P PM H AT Il Tgh T TR 96 & 9H e @ fae

aaR (feeq 2) foan wmar 21 fgsnar gs=mell & gIMad

TSl # geer @ iR fafer €)E ¥

ST (1100 =1 x 2P +1x2+0x2+ox2=8+4=
(12)10

(1101, =1 %2 +1x 22 +0=2+1x2°=(13)
] YR dewzom IR T fEameml st | Elaal%fﬁﬁw

IUR RRCIEEE S
3<l.

log,” =

(11 =211
215
212
211

EIRE (11)10 :(1011)2

—_ S| = =

THTIR AU {Arithmetic Progression)

AR AT UE U1 Sgmd @ e TR U9 (YW UR @l
BIgHR) &SP Ydaci e § <R Fad FAM &l 8

aRi d=T,, ;- T, (47)

SR 5,10, 15, 20, o .

Tl d=10-5=15-10=20-15 =5 (FAF)
I. AR A9 &1 AF® W9 (Standard form of Arithmetic
Progression)—
afe fEd TR Al B UM US o, WIS 4 20 S1f< ug
T, 21, <1 Al &1 A5 w9 2R
a,(a+d), (a+2d) . [a+(n-1)d]=T,
I1. W9 Sl 1 #dl 9g (A0S 9 )—
T,=a+(n—1)d® TR A0 BT MWD (ndl US) B T
L11. SHr=<1= 39 @ 92M # 9=1 &1 ARTBe (Sum of first # terms
of an A. P.)—

n n
S,=5[2a+(n-1d)MSs, = JlatT,]

[o&l T,=a+(n-1)d]
DI TR AT & U2H 5 Ta] BT ANTH bl &l

'TTH?I'\’ ST (Geometric Progression)

wid fepel 2l &1 U U v yd @ UET bl veb e i1 bl
U B3GR YIS 220, <1 98 Al QUi Al dadr 31 e
et =% 1 wIdsuR Fepad B

IR 21,63, 189 e

I. '{[Uﬂ?l'\' 2ol T WME ©U (Standard form of Geometric
Progression)— A& IR 207 &1 Y2/ U8 ¢ 9201 GHIAIIR r
21, A1 Al &1 TS w9 BT

aﬁ‘»&ﬁa@tﬁr:%ml

I1. TeiR 2 P51 =A9F 9 (n9l 98)—

_ -1
Tn—ar

H2YUl A (Important Formulae)

(at+ b=+ 2ab+ b

{(a—bY=& - 2ab+ I

& —F=(at+ b a-b)

{at bteP=d+ 8+ 2+ 2ab+ be+ca)

{a+ Y+ (a— BV=2(c+ F)

(a+ by —(a—bY=4ab

a-b=(a-b) (@ +ab+t )

E+ B =(a+b)(@— ab+ b)

(a— bP=a — b~ 3aba— b)

(a+ By = & + b+ 3abla+ b)

E+ B = (a+b¥—3ab(a+h)
&—b=(a-bP+3ab(a-b)
Z+P+E-3abe=(atbto)(@+P+F—ab— be—ca)
AfE g+ b+c=032, T8 &+ B + * = 3abc
(atb+ef=d+ b +E+3a+ bbb+ e)e+ a)

fep=81 1 T AT B & 7w 73 e o —

A B

iy rA-By+n(AnB)=n(A)

i) nB-A)+nrAnB)=nB)

(i) A UB)=nA-B)+n(AnB)+nB-A)
(iv) mAUB)=n(A)+a(B)-n(ANB)
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1. 7 8-SR W= 179x 091y, 88 Hiar=T
%,ﬂ}f(x—y)zﬁlwm%?

(B) 4

1 D2

. I 8-3IPT ATl He= 30x0867y, 88 |
fasrsT B, @ (3x + y) Bl A FUR P
(A) 5 (B) 6

© 7 (D) 4

. qoiicel 19 100 b & We AN Yol
B ST A E P

(A) 6 B) 7

) 8 D)5

. AR 21168 =22 % 30 = 768, T a, b
¢ VI WS 2, T (4a— 5b + ¢) A
TP

(A) 1 (B) 2

) 3 (D)o

. 7 el F § D Fe qoifnl &
fore W FE R 7

(A) N HHARTRR B

(B) 1 TS ToHAD &

(C) Sadbed HARAfER 8 3

(D) YU |E B B

L AT 52272 =p?x ¥ x Y,

W& p, ¢ AN AT wEAG E, @
(2p+q—r)?ﬂ‘11:l%—

(A) 22 (B) 23

) 29 (D) 21

. I 7-81 Gl TN 134x58y, 72§
AT 2, 9 (22 + y) B A B—

(A) 3

Ay 7 (B) 8
e 9 (D) 6
. I i 3 @—é fram:
7 8 36
1%57

(A) uRNY wEAY AU & fepld Hgd
ad g

(B) ufRr e faara & Siid e
ad g

(C) URA S AT & Sicrid Had 2Rl
B

(D) URHT W el & 3 Hga
ECIE

9, "M &% g, b, ¢ 1 URAY HeAd 2, Il

3 2 -5
a:g, bzg (ﬁ\WC:? 2 Ifrfofas
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Y P IS ?

(A) a+(b+O)=c+(a+h)
B) a-(b—c)=c—(a—F)
(C) ax(b+O)=bx(a+c)
D) azb+)=b+(a+c)

famy 7y
6
Y
Ty 1A B
(A) 4 (B) 2
c 3 (D6
a® <1 999 ¥91fad v, oA feg 4-

ST W@ 5474, 39 fAwrsy 3, &1 20
§_

(A) 13 (B) 15

() 7 (D) 10

¥ AB x BA=BCB®, SiE A, B 3lR C
Hae Up B 3P Bl USRiT Hed & AR A
ZB#CE, 9A+B+CH AH B—
(A)9 (B) 8

(@6 (D) 10

W= 998071, 11 9 fawrew &Rl =fa vy
BT T A 2—

(&) 0 (B) 2

()3 D)1

S=1-2+3-44+5-6+7-8+.... +
49 — 50, § I Wy Ul &—

(A) 25 (B) - 25

©1 D)o

vy A oS =% STl areil T 51y
3, 99 faursy &1, frT E—

(A) 079 (B) 273

(€ ow3 (D) 379

~7 @R —3 & = Rerd Yol &l UFHe
S

(A) -360 (B) 120

(C) —120 (D) 840
Fraferfad ¥ | - BT | 7P

(A) a9 B o7 WSl 17 2

(B S ST Hemal Bl ANThe 93
I HeT Bl B

(C) TP AT |2 1o =1 2 Al
B

(D) IS 9 AT G T4 B

Tl o b@?cﬁﬁ:fq\ﬂﬁ?ﬁﬁ_ﬂqw%

6 a< b<c<0,q9 74 ¥ DH—T

BT A B

(A ate=h

C)y atb>c

(B) ab=¢
(D) ac> ab

19, =T 329030000 @ AHE WU H & x 10

20.

21.

22,

23,

BT o R SIeT 8 1k + nehl W19 5 —

(A) 90.903 (B) 16.2903
(C) 15.2903 (D) 91.903
A —3fep! aTell T e | Wb Bl 37

ThE W 799 | S HE=N B B B
TeferT U S HeT e it B, 99 aRd s
- siapl arell W& A 9 TR i 8 |
9 FH PR Il T U 2Ril 2 SHH
SIS BT AP B—

(A) O By 1

© 2 (D) 3

1999 ¥ {81 <91 &1 wTeram 30.3 e
ol | - "= 30.3 fferm & wwe
B

(A) 303000000 (B} 30300000

(C) 3030000 (D) 3030000000
AT *=1+47,3"=1+7+bdARN4°=1
+7+C,G|ﬁa,b3ﬁ1’cﬁﬁ:fﬂ7fﬁﬂzﬁ
quiies 2, T @+ b + ¢ HAH B—

(A) 58 (B) 68

) 77 (D) 79

T I8 WEAT §9F WHI eIHE
TUAETY B (T B BIgEY) AN B
WET B
SRIERUTAT 28 Qe R W B i
28=1+2+4+7+14%]

Pt 3 e e Hegul e 3

(A) 13 (B) 10
) 9 D) 6
. A gl sl @l qUAwd 24§18
HEAT3T T AT A T 2 —
(A) 8 (B9
() 10 (D) 12
afg
1957 — a9
188
T 3BT a AR b P AT B—
(A) 15 (B) 14
€ 13 D) 12



26,

27,

28.

29.

30.

31.

32,

33

34.

35.

-3 9 B W -8 9§ 99 Yufichl Pl HEAl
B

(A) 4 (B) 6

(Cy 2 (D) 3

3 7

§X[EJWW —
21 21

(A 104 B 104
104 104

(<) ET8 (D) ET8

A a®=147,3P¥=1+7+b,4°=1+7
+ecal, A a+ b+ cP HAS—

(A) 75 ®) 77
(C) 110 (D) 58
210 1 T ¥ fasms 35—
(A) 3 (B 4
() 10 D) 2

2010 ¥, TP TR @1 SFE 30.3
forferm 2 | 32w f91 & aReR E—

(A) 303000000  (B) 3030000
(C) 30030000
7 A B AT 32 B 1S 9§ Iy

TP HA - 36 2, AN SHY HeA 5

(D) 30300000

(A) 4 (B) - 63
) 63 (D) -4

3% 10% +4 X 103 +7 % 10? + 5 TWEAX &—
(A) 3475 %10 (B} 304705

(C) 347500 (D) 3004705

Ty {1 FEd 11 9 199 fordt &, i
BT 9 2 forman B 7

(A) 38 (B) 39
(C) 36 (D) 37

4-(2- 90+ F+ 1+ 3PP WER B?
(A) 15 (B) 12

) 17 (D) 16

HET 3% B 5 F AN B UF 99 &
3

(A) 3 B) 4

) 1 Dy 2

36.

37.

38.

39.

40.

I, 8T, e SN < Bl S Sele

?@W%ﬁ?ﬁﬁmeﬂ?ﬂ@aaﬂhw
[

WAAM4x1+8+2=8

M G6+4:2-1=4

AWM 9+3%x2-432=10

eI 27 +3-2x3=21

T 9 T w8 Se urd fam Bv

(A} I=m (B) <H

(C) ¥ (D) 3H

2x—13, 2x—11.2x -9, 2x—7 PHNTd &

(AY Hu @Y (B faw Hend

(C) URpd G (D) ST W

AR AR HH H q, b AT ¢ A UTHa

= ¥, d—

(A) E-d=bP B F<h

(C) F+=a¢ DYE-d>b

AR a* b=+ F AR a. b= — b, A

(5 *2). 25 1 A BFl—

(A) 225 (B} 226

(C) 216 (D3 215

13203 9 pTY & A U SIUT—

(A) 3 B 7

(C) 9 (D) 1

1.

(D) - 179x091y, 38 9§ fasmey 2 d9 28
g e 11 9 97 fawr= 2|
8 ¥ fawrsy 91 & fag,
i3 i 3 si, 8 § QW 3 94
=1 T = o 3 ¥ fawfaa 2R
dd, y=2
11 % fasrsg 39 & fag,
i WA T O RRera 3l & A
o a9 S W 3BT & AN Bl
Y 11 9 famfea 3, 99 6 18
e A 119 farfsra @9l
(T+x+9+3)—(1+9+0+1)
=16+x+y-11
=5+x+ty=5+x+2
=7 +x
(7 +x)F 119 fawfsm 3 & fow
x=4

AT x—y=4-2=2

L

w

o

(A) 88=11x8
30x0867y B 8 H AT & &
ToTT 3 T AT 2 BT =1RT | 3T 11
¥ fquriog &= @ faw,
(3+x+8+7)—(0+0+6+2)
=x+10
T x=181 W I8 11 ¥ {ar=a &1
3x+y=3x1+2=35
3T YTHI BT = = §
e I = (3, 5) (5, 7) (71, 13),
(17, 19) (29, 31), (41, 43), (59, 61),
(71, 73)
21168 =2¢ x 3b x 7¢
2433 Pl =20 x 3b w 7e
a=4,b=3¢=2
dg—5b+c=16—-15+2

(©)

(©)

. (By 52272 =p?xgix st

52272

26136

13068

| 6534

3267

1089

363

121

11

1

o 52272=2%%3%% 112
W (Ha (2 9,
p=1l,g=3,r=2

 (Zp+ gy Pl HA
=2x11+3-2

=22+1
=23

ey

] P B
=

2

7. (B) - 134x 58y, W& 729 =0 & |

. QR "= 8 T2 9 ¥ faurey
B

39, 8 1 faurIF 19 & JHR
e & oW A siel | P
HE 8 W fqursy B =IiRe |

- 8 9 9= B @ ferg, y b I
UX 4 ST =0y |

G- 9 i faurstebal oM & e,
HE & el P! AN 9 [ 21
ElEL

o | 369



A 99 R B & ferw, b v
3 2 3711 =0EY |
1+3+4+ (D +5+8+ (4) =270
7 o =T 21
A x =299 y=4 2T
SL2x+y=2x2+4=38

8. (C) uR#Y =W AR & =T HId

R W= B R |
9 (A) a+t(b+c)= c+iath)
10. (A) 74

%6

444

ﬂﬁ:yaﬂqﬁilml
547 g=3472=5+4+7+2=18, =l
39 fsmfor & S 21
. a=2,578
T AM=2+5+8=15
AB x BA= BCB
12 x 21 =252
SA+B+C=14+2+5=8
13. (D) 3 TE ¥= 98071
QT fapedi A e B F D
T HENH vy @AW 17T W
a8 o= 11 ¥ e 2 S|

S=1-2+3-4+5-6+7—8+ ...

+49 - 50

= S=(1+3+5+7+9+....+49)
—(2+4+6+8+.....50)

1. (B)

12. (B)

14. (B)

= 8= %{2x1+(2571)><2}
722—5{2>< 2+(25-1)2}

= s= 2—25{2+24x2}

—%{4+48}

=625 —650 =—25
37 S T HIISS A= U™ = 25,

15, (AY 99 faursaar & Fav— ol |90
Fpl BT AN 9 W |{9=T & @1 98
e 9 9wy 2l

513=5+1+4+y+3=9+y
(9 +y) AT BN AR y =0, y=9
AT y=02A7
16. (C) (=7) 9 (-3)a dra Rerd quiie =
(=63, (=5) T4 (—4)
B =(-6) < (=5) % (-4)=-120
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17. (C) =1 W& s & |ell &
SHEU 15=5%3
o 15 U fawm wEm B |
18. (A) WIIJHAR, a<b<c =<0
Wa:—S,b:—QSﬁ'\’c’:—l
—3«-2<-1<0
P (A9,
atc<h
B-1<-2
—d -2
19. (B) 329030000 =8.2903 x 10°
F 1079 geitl & W)
1 AT =8.2903
n=28
(k+ n)=8.2903 + 8 = 16.2903
20. (D) AM SHE BT 3P x 991 F2E B
ﬂ$y%
HPF UG =x +7
{E =100 (x+ 7)+ 10y +x
=101x + 10y + 700
31l BT Ioel HT UY T
=100x + 10y + (x+7)
=101x+ 7 +104
YL,
ardfdes He= — A8 e
=(101x +700+10y) — (101x + 7 +
10y) =693
TARTY T T SH 3@ =3
1 ffer =1,000,000
30.3 fafermd =303 x 1,000,000
=30300000
2 COfmMIl=1+T2a=82a=2
F¥=1+7+b = 27=8+b

21. (B)

= b=19
4=1+7+c 264 =8 +¢
—c=56
a+b+c=2+19+56=77

23. (D) wwqul =
QEEYU 28 =1 +2+4+7 +14
THUPR 6 =1+2+3
SfE 1, 29090 3, 6 SIAS OHETS

L

= 13 =1 +13
= 100 21+2+5
= 9=1+3

W:éwwm%l

26.

27.

28.

29,

30.

31

32

33.

. (C) =1 HEMS P TR = 24

3 AT I = (6, 4), (8, 3),
(12, 2), (24, 1), (4, 6), (3, 8),
(2, 123,01, 24}

e AT Hd W =6 +4 =10

. (®) 1957

—a9
1868
14—a =b
a+bh =14
ad: @A b B AN = 14

....... >

-3 9 B W -8 W a5 QU] Bl
[ =4

—3X[—7] 21
© %3 T 1m
ELHﬂQE%F-'E&
104 )|
B)&=1+T>a=82a=2
BF=1+7+5
27 =3+%
b=19

TMA=1+7 +¢
64=8 +c¢
c=064-8=36
ca+b+e=2+19+36
=77

(A) 2W_ | =p10_110
A =TT (¥ —a), (x+a) F
s 2 #1
20— 10 (24 1 =3 | a9
BT |

(D) TR bl T = 30.3 Ml
-+ 1 et = 1000000
3 SHEEI = 30.3 % 1000000
=30300000

(C) 3rfeC W= =32 - (-36)

=32 +36 =68

(B 3%10°5+4x10°+7 x 10?+5
300000 + 4000 + 700+ 5
304705

(B) 11 ¥ 199§ 2 b1 H&
119209 5249R
219309 > 109K
319409 519K
4191108 57 49R




11191209 » 249~
12191309 5 103X
13191998 > 749X
el W =39

3. (A)4-(2-9P+3+1+3

35. (B)

=4_14+9=1+3
=4-14+9+3

=15

395

SHIS 3P

3'=3

32=9

33=7

3=

3°=3

4% 915 SHE P G- AR 2|
Wy =2

3% T PpIS b = 32=9
- IR = 4

36, (C) AT 4 x1+8+2

= 4><1+§:4+4:8

31 T &l SN 98 2

37. (B) 2x-13,2x—11,2x -9, 2x— 7 PHF

EL

I HHATE AH FEd g 2 B
QW x=0W {-13,-11,-9, -7}
x=1W {-11,-9,-7,-5}

38, (D) At 9 WIpRIp W= o, b 99 ¢

AR HA H T, 99 AR 99 u=el
T Y 9 A B
Fdl.a=2,b=3,c=4

F-@=hb= 4223

16-4=3=12>3

FAUBR ¢ — > b TAA 2|
atb=d+ ¥
ab=a-F
(5% 2)25 = (52 + 22)-25
=2925
=(29F—(25%
=216
40. (B) 1329039 gaplg ol 3ich
(13043 I8 &b
(134 x 13° ¥ SPIE AP
(1=x7)HEHE 3F =7

39. (C)

ad

| | 371



B IS 3R U

1 (CropProduction and Management)

B SUE Ud Yae B fasr § WiFE 4 qd 2w Hior 9 oW
SFIAl B AR AADIA T—

IRCINE

UAId o H 31994 BRI & 3R URId Ted 3§ B Od ail & !
BT IR A AL 2l & | 37 92Dl DI UM <ied sl Sl & |
AR Ao § Y UINd Tl Bl T BRRRSe, WeH, a9,
e &k Wi e € | S9@ o1eral, HioH # SR Wigay 3R arl
BIT 2 el 30N 2T Bl iragyasdl 31 2 |
T AR FAEISIC—DIHEIFSE B8 UBRR b &Il & 1SR IoH
A Y S 9161 A FERRse W AR T & w9 H 2
BrAEIRSe I gl 4 I9T 954 D Sull ol & | 997 3%
PlelRIgSe Yb Wi ygrel Bl ‘Sul < drel @ ugrel” A
EART SIS
WEA—u2 29N IR &I glg AR 9 1 Aeg Pl & AR
T 919 fafes g wer W 2
Ret®a—72 =R IR &1 00 99§ 89 B 2 | 3R
RR B faerf ol faefa v, @, 9, 9,3, @, T i<y
D) HIaTHB dg b W 2RN 8 | el v sl @an
SR TGl B Tee] 3@ g | faarfa 6 ek & &g dniE
H A | wag o B | e & s e @ efe ofw
SRl Pl ASTES Y Bl 2 |
WS- TR & fab 3iR 3 @R B a0 36 4
Heq &%l 2 1 gs |ist ARNEE, diel, Bleeiad ok GRBRY
anfer 2
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